Graphing Sine and Cosine






y = SiIl X 22 £0.707
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On your sheets, plot points for the function
using your Unit Circle or Trig Table
Example: x =0, sin 0 = 0 so (0, 0)
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General Equation: y=k+ A4 f [B(x — h)}

where | A ‘ =amplitude — vertical distance from extreme value to the

sinusoidal axis
‘ B ‘ =the number of cycles between 0 and 27*

2—E’ =period**
i Pg 51

=frequency

| period ‘

k =vertical shift
h =horizontal shift (a.k.a. phase shift)
and f =the sinusoidal function

y=k+Asin[B(x—h)]
y=k+Acos[B(x—h)]

Same as sine function only
shifted to the right by 4

or the left if /4 is negative




General Equation: y=k+ A4 f [B(x — h)}

where | A ‘ =amplitude — vertical distance from extreme value to the

sinusoidal axis

‘ B ‘ =the number of cycles between 0 and 27*

B|

1

period

21 period**

=frequency

k =vertical shift

h =horizontal shift (a.k.a. phase shift)
and f =the sinusoidal function

y:

k

+ Asin[B(x—h)]

Moves the function up or down
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General Equation: y=k+ A4 f [B(x — h)}

where | A ‘ =amplitude — vertical distance from extreme value to the

sinusoidal axis
‘ B ‘ =the number of cycles between 0 and 27*

2 period**

B|
1

| period

k =vertical shift
h =horizontal shift (a.k.a. phase shift)
and f =the sinusoidal function

‘ =frequency

y=k+ Asin[ B(x—|h)]

Moves the function left or right
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General Equation: y=k+ A4 f [B(x — h)}

where |A ‘:

amplitude — vertical distance from extreme value to the

sinusoidal axis

‘ B ‘ =the number of cycles between 0 and 27*

B|
1

| period

21 period**

k =vertical shift
h =horizontal shift (a.k.a. phase shift)
and f =the sinusoidal function

Pg 51

‘ =frequency

y:

k +

A

sin[B(x—h)]

Stretches the function vertically

like this...




Yy =sinx

y =3sinXx
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General Equation: y=k+ A4 f [B(x — h)}

where | A ‘ =amplitude — vertical distance from extreme value to the

sinusoidal axis
| B | =the number of cycles between 0 and 21*

21 =period**
B|

1
period

=frequency

k =vertical shift
h =horizontal shift (a.k.a. phase shift)
and f =the sinusoidal function

y=k+ Asin[B{x —h)]

Stretches or shrinks the function horizontally

like pushing in or stretching out a spring




y =sInx

y=sin2x 7
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Notice that the length of the cycle is cut in half

Try y = sin 3x on your calculator
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But how do I label
the rest of the x-axis?

y=sin—x
2
Period = 2—77
E
2
2
/ =2 —
U
Period =4



When graphing one period or cycle, you can
just divide the x-scale into four parts for each
critical point of the cycle.

Start with the new period of the function

y =sinbx




y=sIn2x
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y =3sin2x
y =3sinx



N
AN

y= 3stLx + —J
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:—1+3sin2[x+Zj

y = 3sin2(x + %}
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y:—1+3sin2(x+Zj



